EARG 77 B Bl Sk 124T

TABO1 TABO2 TABO3
- Cw ) I=V=E
K sm _ el o
EtR iEE] - [
TABO1 PEEK (BREREXER) E Ei
TAB02 | #ilg® | 2F — PPS (BRAHE) EdgELE
TAB03 RENY (GRIBA 4R REERMXD6) 4T
O A RIERARE: DIN 912-1983 25
GB/T 70.1-2000
LY
12
- — r\
al H-- B T x{ Hintsz i
:711 s \ / s
Vv =
K L S BEH
=1 .
O FARHREFNF= RIS HIREER. NeptnE: S—NEm
.
S L v i D K s -
KB M ik
3 6 8 10 16 20 25 0.5 5.5 3 2.5
4 6 8 10 16 20 25 30 35 0.7 7 4 3 pry
(PEEK) 5 6 8 10 16 20 25 30 35 40 45 50 e 0.8 8.5 5 4 mﬁ“*}
TABO1 6 6 8 10 16 20 25 30 35 40 45 50 1.0 10 6 5 o
8 16 20 25 30 35 40 45 50 1.25 13 8 6 b
10 20 25 30 35 40 45 50 1.5 16 10 8
ZEF
BS P 3 X
e = L v 255 D K s ﬂ
3 6 8 10 12 16 20 25 0.5 5.5 3 2.5 RE
4 6 8 10 12 16 20 25 30 0.7 7 4 3 SRR
T(f\:ﬁ)z 5 6 8 10 12 16 20 25 30 2F 0.8 8.5 5 4 S ]
6 6 8 10 12 16 20 25 30 35 40 45 50 1.0 10 6 5 I
8 16 2025 30 35 40 45 50 1.25 13 8 6 mEm
NESE
= LD
s L % P D K s T
KB M 1256 HOR
3 6 8 10 12 16 20 .25 0.5 5.5 3 2.5 LS
4 6 8 10 12 16 20 25 30 0.7 7 4 3 s
(ffé"o\;) 5 6 8 10 12 16 20 25 30 2F 0.8 8.5 5 4 AR
6 6 8 10 12 16 20 25 30 35 40 45 50 1.0 10 6 5
8 16 20 25 30 35 40 45 50 1.25 13 8 6 HER R
[®) % A5 BLIRET AR e @ RS .
BE RENY>PPS>PEEK>PPSIEIRIELF 4 2R RENY | PPS+PPSIERIELE PEEK B
e PPS+PPSIFIRIHLA > PEEK>RENY ESERIRE(CC) 105 200 180
L E R PEEK>PPS+PPSIERIELF4E> RENY PRisett UL94HB UL94V-0 UL94V-0 =
% e ———
O RENY. PPSEBEIRIELH, BFIERE
s @ fEM T I8
rey e Twm| - |V g Sumn o
F  apoy [ 10T 20 S — 2 5 TE
4 10 16 20] =% © it [100%|BEEM FHTH
BIRETIE  TABOT—M3—L16 FBUNGT) —
BHTE
SHIE
EEIE
PAR=!
AT




	页 1

